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VYHODNOCENI TEZKE DYNAMICKE PENETRACNI ZKOUSKY
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m Nm [zMmt [m&F | zem. (MPa) [(kPa) popis zeminy Ic Ic 1D WN/ml ) | (kPa) ®) ®Pa) @ | - | - [MPa)|  (MPa) 0
0.0 0 0.0 0.0
0.1 2 0.0 Sim 2.0 4 33 1 2.3 Stérk jemnozrnny - - 0.26 kypry kypry - 19 25 - 0.37 | 0.57 34
0.2 4 0.0 Sim 3.5 7 5.7 1 4.0 Stérk jemnozrnny - - 0.36 | stfedné ulehly | stfedné ulehly - 19 27 - - 0.35| 0.61 6.0
0.3 6 0.0 Sim 6.0 12 9.8 1 6.8 Stérk jemnozrnny - - 0.46 | stfedné ulehly | stfedné ulehly - 19 29 - - 0.34 | 0.65 10.3
0.4 5 0.0 Sim 5.0 10 8.2 1 5.7 Stérk jemnozrnny - - 0.43 | stfedné ulehly | stfedné ulehly - 19 28 - - 0.35| 0.64 8.5
0.5 15 0.0 Sim 15.0 | 30 24.5 1] 171 Stérk jemnozrnny - - 0.64 | stfedné ulehly | stfedné ulehly - 18.6 | 36 19 33 - - 0.32| 0.71 23.80[ 25.6
0.6 58 0.0 Sim 58.0 | 115 94.8 1| 66.1 Stérk jemnozrnny - - 0.89 velmi ulehly ulehly - 19 38 - - 0.28 | 0.79 99.1
0.7 40 0.0 Sim 40.0 | 79 65.4 1| 456 Stérk jemnozrnny - - 0.82 ulehly ulehly - 19 36 - - 0.29 | 0.77 68.4
0.8 36 0.0 Sim 36.0 | 71 58.9 1| 41.0 Stérk jemnozrnny - - 0.80 ulehly ulehly - 19 36 - - 0.29 | 0.76 61.5
0.9 36 o[ 0.0 Sim 36.0 | 71 58.9 1| 41.0 Stérk jemnozrnny - - 0.80 ulehly ulehly - 19 36 - - 0.29 | 0.76 61.5
1.0 35 0.0 Sim 35.0 | 69 57.2 2| 37.4 Stérk jemnozrnny - - 0.78 ulehly ulehly - 19 36 - - 0.29 | 0.75 56.1] 10
1.1 55 0.0 Sim 55.0 | 109 89.9 2| 58.8 Stérk jemnozrnny - - 0.87 velmi ulehly ulehly - 20 37 - - 0.28 | 0.78 88.2
1.2 132 0.0 R 132.0| 262 | 215.8 2| 141.1 skala zvétrala 5.70 | velmi pevna tvrda - - - R6 22 41 570 | 179 | 0.26 | 0.82 211.6
1.3 250 0.0 R 250.0 | 496 | 408.8 2| 267.2 skala zvétrala 7.85 | velmipevna tvrda - - - R5 22 44 785 | 308 | 0.24 | 0.85 400.7
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